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K3 *(T%) =2, K3[\(T*) =787 (1)
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K;F(sY) =2, K;f'(S') =2 (2)

00000000 [2] K5(T?) 0 Z2000000000000000 k000000000 “weak index”
000000000000 K3P'(7?) 0 2, 000000000000000000 “strong index”0 O
000000000 Z, 0000000000
0000000000000000000000000000000000000
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Uun (k) Hip (k)i (k) = ~Hin(hn), Uin(h) = (3 €0 ) @ Len 3)

0000 zZ,000000000DOO0OOO0O0U0000D Kk, 0000DDOOOOOO0ODODODOODOOOZ,O
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gobooobobooboobbooboonooboo

I H3p(¢,0/1) :=cos¢ 7y ® Hyjy +sineg 7, ® 0o @ Iyxn, ¢ € [-7/2,7/2], 4
D\ Usp(ks) = 70 @ Urp (). (4)

I Hsp(9,0/1) :=cos¢ 7, ® Hy/1 +sineg 7, ® 09 @ Inxn, ¢ € [-7/2,7/2], 5
ID Y Usn(ka) = 1 @ Urp(ks). (5)

000000 Usp(k,) 0ODOD0O0OO0ODOOOO 1, OO0 PauliDOO0OO0,e 00000000000
0000000000000 0D¢=+7/200000000000 Hap(e,0/1)0 0/1 00000000
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FH2D(k;E; ky)r_l = _HQD(kaza ky)7 I' = T, ®og® 1N><N7
St Usp(kx)Hap (ky, ky)Usp (ko) ™t = Hap (ks ky), (6)
TUsp(ky) = —Usp (k)T

PHop(ky, ky)L ™t = —Hop(ky, ky), T'=7.®00® Inxn,
St Usp(kx)Hap (ku, ky)Usp (k) ™t = Hap(ky, —ky), (7)
TUsp(ky) = Usp(ke)T

* Ken Shiozaki, Email: shiozaki@scphys.kyoto-u.ac.jp

1 7,000 x00000000000000 S! —»S'xS'000k, 0000000000000000C0000000 “weak
index’0000000000000000 k., 0000000000000D0O0O0OO0O0O0O
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21 OO0 ST v v o e e 4
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3 OO0 pgODOOO 7
4 Jddoooooooooooooon 8
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4.2 I 0 9
5 goboobogo 10
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6.1.1 OODO DPg . . o o o s e 14
6.1.2 OOD0 pmg . . . . . o o e e e e 15
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gbobobooooobobobobobooooooooDo

Uip(kz)Hip(kz)Uip(ke) = —Hip(kz), (8)
Uip(ks) = (? e_(;km) ® InxN- 9)

0 e the
1 0
0000000 A0 BOODODODODOOOOOOOOOOOOOOODOO
0000000 0OO000000o0O0O0 A0 BOODOOOOOOOO

_ Hya(ky) —iHap(ky)e Fa/?
Hiphn) = (g P2 0), Mgt Y (10)

Haa(ke)" = Haa(ke), Hap(kz)® = Hap(ke), (11)
HAA(27T> = I‘]AA(O)7 HAB<27T) = —HAB(O).
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V(2r) = V(0)* (13)

0000000000000000000000000000000000 (13)000000000 V(k,)
0000000000

00 UN)=U(1)x SUN)ODOO SUN)DODOOOODO0000 (13)00000000000000
000000000 U(1)0000000000¢**) =detV(k,)0D000O0O0DO (13)0 U(1)000D0
00

0(21) = —0(0) (mod 2r) (14)

ooooooooooo 9(k,)0 =00 7000000000O00O0O0OO0OOOODOODO Z,00DOODO
ooo

e Zy=0: #=0000000000
e Zy=1: g=n00000000O

Z, 00000000000 N=1(000,ABO0ODOOOOODOOOOO)O

@zlszgeUm,w@y>4,m@@:(ﬁ % (15)
000000000 gk, 000000000 000000000000 0DOO00DO0OO0OO0O0 N=10
oooooon

Zo=0: V(k)€UQ), Vik) =1, Hyk) = (5 ) (16)

0000000H (k)0 ADODDDOODOOOOOOO0OH (k)0 BOOODOOOOO0O0O000000
00000000000Z 000000000000000000 Hy(k,) 00 Hy(k,) 100000000
00000000000000000000000
Z,000000000000 Hy(k,)® Hy(k,) 00000 Ho(ks) ® Holk,) 000000000000
00000000000V(k)000O000000000000V(k,) €eU(()D00D00¢te[0,1]000
V(ks,t) € U2) O

-1 0 1 0
Vikt=0)= (3 2)) Vikt=1=(5 1) (17)
00000 (B)0000O0O00DOO0D0D0O0O0DOoDO0ODOOOoOoOoD
_ — cos(mrt) etk /2 sin(rt)
V(e t) = (—eikw/z sin(rt)  — cos(mt) (18)

00000000000 z, 0000000000
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0ooo0 zZ,0000000000O0O0OO000O00O0O0O0O0O0 Z, 0000000000000 O0O000O
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N=1000H,OH, 00000 Z,=0,10 k, 0O0O0D00O0ODOODO

H=0.=(; %) (19)
H=—0,= (_01 (1)) (20)

0000000 o, (w=0,2,5,2) 000000000000000000 ABOOOOOOOODOOOOO
(c,000000000)
0O000000000000000000000000000000000000000 (00 n=0)00
O0000O0000o0 ABODODOODOOOOOOOOO (DDDDDDDDDDDDDDDDDDDD T 0O
0o)

mmm&wn:mw@®{2%}+m¢%®%,¢Qﬂﬂmm (21)

00000000 Hp(ke,¢,0/1)0 ¢ =+7/20000 0/100000000000000000 7200
000000000000000¢0 +7/2000000000 §'000000 k, 00000000000
000000000

Hyp(kg, ky) = cosky 7y @ 0, +sink, 7, @ 09 (22)
goooooooogg HQD(k;x,ky)DIZIDDDDEID
THop (ke  ky)T ™! = Hap(ks, ky), T'=7,® 09 (23)

0000(22)00000000 Hap(ks, k,)0 Z,00000000000000000000
Z, 0000 Uyp(k,) 0000000000000000000

(I) Usp(ks) =1 @ Uip(ky), (24)
(I1) Uzp(ks) =71 @ Uip(ka), (25)

0000000 (23)00000000000000000000O0O0O0O0OO0O0OO

. Uap(ky)Hop (s, ky)Uap (k) ™t = Hop(ky, ky),

St {F%D(@:—mwwgp (26)
) Usp (ki) Hop (ks ky)Uap (k) ™t = Hap(ky, —ky),

St {F%D%@:L@ﬂéﬂi ! (27)

S$:0000000 0000000D000D ztO00D0O0O0OQ0ODOODOOODOOOOOOOOOOOO
0000000000000 00000S; 0000000 x 0000000000 yOOOOOOODOO
gooobooboobooobooobboobobooobooobbooobboobboobboobbboOoo
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21 000 5
goooooooooa
FHQD(kmky)Fil = _HQD(kmvky)a r=r® 00,

—ik,
St: Usp(kz)Hop (ko ky)Usp (ko) ™' = Hap(ks, ky), Usp(ky) = 72 @ ((1) € 0 ) , (28)
I'Usp(ke) = —Uap (k)T



Oo0o00000000000000000000 KOOO0Ooooooooooooooooooooooo
000 Z, 0000000000000 0O000O0O00D0OO0O0OooOoOOOooo
0000000000000 0000000000000O0000D0O0000D (22)00000

Hyp (kg ky) = (m+cosky) 7y @ 0, +sink, 7, ® o (29)
gogbooboboobooboboobuoobbooboobboon E(k‘mk‘y)ﬂ
[E(ky, k,)]? = (m + cosk,)? +sin’ k, (30)

Ooo00oooooooOoooooO0o0o0oo0onO0ODO0Om=+£10000-1<m<10000000000C
ooooooom~-100000 %k, =0000000000000 Kk, ~0000000

1

§k§)ry®az+k‘yrgg®ao (31)
y=0000000y>000000000000y<00000D0y=000000000000000O

goboobboobtdyboobbooboobbobobooboooboba ]{}yDDD —iay[lDD

ng(kw,kiy) = (m—|— 1-—

X 1
Hop(ky) == (m+1+ 585)@ ® 0, — 0Ty ® 09, (M > —1) (32)

0000000000000000y=000000000000000000H (k) (k) =0 (i =1,2),

[61(k)) = N () @ (1) e sinb(yv=2m = 1), (33)
(k) = N ((f) ® (5) e~¥ sinh(yv/—2m — 1), (34)

O00ONDOOODOOODO00000]¢:1(ke)), ¢a(k,)) 00000 P =70,0000 £1 0000000
00000 Uap(ks) =72 @ Uip(k,) 0000000

[¥a(ka)) = €= Uzp (ko) [$1(kz)) (35)
[Y1(k2)) = Uzp (kz) [$2(ka)) - (36)

lth1(ks)), Y1 (k,)) 0000000000000 0000D00000DU(k,) 0000000000000
0000000000 |¢(ke)),|¢1(k,)) 0000

Ul(ky) = e the/2 V4 (k) = [¥1(ke)) + e the/2 [Ya(kz))

Ulky) = —e /20 Jih_(ky)) = |1 (ka)) — e */2 [ihs(ky))

0000000000 (000000000)U(k,)00000 ks k,+2r 0000000000000
Y4 (ks)), [v-(k,)) DODOODODOO

(37)

[Vy (kg +2m)) = [h_(kz)) (38)

0000k 0000000000000000000000000000000000000000000
000 |y (ke)), |- (k,)) 00000000000O0000

[ (ka)) = T[4 (ka)) D (39)

goboooboobooooboooooooobooooooooOoboOoooOoooooooOoobooOoooOooooOoon
oooooooood

TH(k,)I ™' = —H(k,), T = 7. ® 0o,
—ikg
SI,Boundary : UZD(kz)H(kz)U(kx)il = H(kfﬂ)v UQD(kfﬂ) =T ® <(1) © 0 ) ’ (40)
I'Usp(ke) = —Uap (k)T
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0000000000000 00000000000D0000000000000 |Y1(ky)) O |¢e(ky)) 0O
oo
Hpert (k) = a(ks) |1 (ka)) (Y2(ks)| + hec.
= a(ks) [Y1(ke)) (V2 (ka)| + alka) [2(kz)) (V1 (kz)]

0000000 alky) €eCO he. 00000000000000 |¢1(ky)) O |tho(ke)) D000 Usp(ks) O
(36)000000000000000

(41)

Hpert(kz) = (ke )Usp (k) [2 (ko)) (2 (ko )| + a(ke) [$2(ka)) (¢2(ko)| Uap (ko) ! (42)

000000000 Hpe(k,) 0000 (40) 00000000000
000000000 DHperg(ke)T ™! = —Hpepi(k,) 00000 Z, 000000000

UQD(kx)HpeTt(kx)UQD(kx)71
= e Fra(ky) [Ya(ke)) (o (k)| Usp(ke) ™" + €% alka) Unp (k) [1 (k2)) (s (ka)]
O000a(k,) D000

(43)

alk,) = e*ea(k,) (44)

00000000a(k,)0 S'00000000000000000 k,€S'00 |a(k,)|#00000 (k)
00000 alky) = |a(k,)|e?®®) 0000

ei20(kz) — eikz (45)

0000000000000 $'00000000000000000000000 k, €S'00000

H,.(k;)=000000000000000000000000000D0D00000000ODOOOO0OO
0000000000000 D0000D0D000D0DU0O0D(k,)D00D00DOOOOODOODOO

a(ky) = f(kz)e™ /2, f(ky) €R, f(ky+27) = —f (k). (46)

f(k,)O ke, €[0,27) 000000000000 0000000000
000 Hy» 0000000000000 00000000000000000000000

Hpert(km) = f(ka:)eikz/2 W’l (kx)> <¢2(kz)| + Jc(kw)e—ikm/2 W’Q(km» <7/}1 (kx)‘
= [(ke) [P (k) (i (k)| = [ (ka) [ (Fa)) (- (Ka)|
000 f(ks) O U(ky) = +e”*=/20000000000000000000000000000000CO

f(k,)O ky €[0,27) 0000000000000 00D000000000
000000000000000000

(47)

e 000 2D0 TIDDODUUUUE, O0DO0DOUODODUODODOUODDO (DD0DO weakOO)O

e NonsymmorphicOOOOO0OODODO0DO0D0O0D0OOO0OO “doublet” (4 (k.),v—(k;))DD0O0DODO
(0D0000000D000000) %, 00000 U(k,) =+e = 00000000 Ok, — ky+27
gogooaooo

o (hy(ky),v_(k,))000000000000DO0

e J000DUODODDODOO (Yy(ks),v—(k,))0DODODOOODODODODOOODOODODOO
gbobobooooogooboboboboooo

e J00DDDDDDODDODOODO (Y4(ks),¥—(k))DDDODODODOODOOODOOOODOOOD
(4 (ks),v_(k,)) 00 00D00DO0DO00O00DO00DO00O00DO00O00O0DO0000DO

goboooobooboobobooobdg

e 00 (¢p(ke),¥_(k,)) 00000000000 0DOODOD0O00O0OOOOOOOODOOOOOOO
00000000000000
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FH2D(ka:aky)F_1 = _H2D(ka:aky>7 I'= T, ® g,

—iky
SII . UQD(kx)HQD(kamky)UQD(kx)_l = HQD(kmy _ky)a UZD(ka:) =7, ® (? € 0 ) 5 (48)
TUsp(ky) = Usp (k)T

000000000 Z,0pg00O00O0OODOOOOOOOOBODODODO Kg:%T%DDDDDDDDDDDD
oobooooooOooooboooboooOoooOooOoOobOoOooooOoo
000000000 Z, 000000000000 (220000

Hop(kg, ky) = cosky 7y @ 0, +sink, 7, ® 0. (49)

gogoo

3 000 pgOOODO

gogooobobooobbbooobbboooobbbooobbbooob pgbbbbobbbog
0000000000000 00DO00000000D0O0 (62)0D0000000DO0O0DDOOODOOODOD
gbobobooooooboooboobob

Hsp(ky, ky, k) = (m+cosky + cosk,)Ty ® 0, +sink, 7,  og + sink,7, & oy. (50)

000000 pg0000

—ik,
Uap (kz)Hsp (kg by, k) Uap (kz) ™' = H (kg ky, —k2), Usp(ks) =Tz ® ((1) € 0 ) (51)

0000O00D 00000000 x00000000D0 Z,000000000DOOC0OO0OO0O0ODOOOOO
gogbooboboobddbpgbbbooboobo yobbboobboobo
00000000000 00000000000000 E(ky, ky, k) O

[E(ky, ky, k2)]> = (m + cosk, + cosk,)? +sin® k, + sin® k, (52)

000000000 00O0oU0DOO0O0oooOo0 mOOO0 m=-2,0,20000-2<m<0,000<m<?2
oooo0oooOoo0oboo0o0oom~-200%,=0000000000000 k,~0000000

1
Hsp(kg, ky,k.) = (m+1+cosk, — 5]@5)7}, ® 05+ kyTy @ 0¢ +sink.7, ® 09, (M > —2,m ~ —2).
(53)

y=0000000y>000000000000y<000000y=000000000000000O
00000000000y O00D0000000000000000000000 k,000 —0,000

. 1
Hsp(ks, k) := (m+1+cosk, + 585)7’@, ® 0, — i0yTy @ 0¢ + sink,7, ® 09, (m > —2,m ~ —2). (54)

O0000000000000 cosk, >m+100000y=00000000000000000

|1 (ke, k) = N ((1)) ® (?) e Ysinh(yy/—2m — 2cosk, — 1),

ﬁ3D(kxa kz) |¢1(kxa k2)> =sink, |¢1(ka:, kZ)> >

|a(ky, k) = N <(1)) ® (é) e Ysinh(y\/—2m — 2cosk, — 1),

Hsp (b, k) |2 (ke ko)) = —sink, [a(ka, k2))
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91 (ko)) , (k) 0 pg00000000000000

W’Z(kwa *kz» = eikZUZD(kw) W}l(kam kz» ) (57)
|1r/)1(k‘$7 _kz)> = U2D(kw) |¢2(kz, kz)> . (58)

goboboooboobbooboobooobooboooboobboobooboboooba

e ,,0DUOODOUOLODODUOD k., 0DODDO(ULUO kK, 0DO0DODODLODDODODOOUOD
000o000o0oooOoooooooo)
e k,,0DODODODODUOODODO ke, €[0,27]00D00OOODOO

oooo0o0o0o0ooooooooooOO0O0000O0O0OooooOoOOoO0O000 k,00000DO0DODOODDOO
oobooooooooooooo

0000 k,=0000000000000000000O0O0O0VU(k,)000D00DO00OODOOOODOODOO
0000 20000000000000000U(k,)000000O00OOODO

U(kz) = e iha/2, |w+(kr)> = W)l(kz» + e~ tha/2 |w2(kr)> ,
Ulky) = —e /20 Jih_(ky)) = |1 (ka)) — e */2 [ihs(ky))

Do0D@OD0D00000) Ulk) 00000 ks = k +2r 0000000000000
91 (ka)), [ (k,)) DOODOOOD

(59)

Wby (ke +2m)) = [¢— (kz)) (60)

0000k 000000000000 0000000000000000000000000000000
00000000000000000 (Jvy(k)),|¢s(k))0000000000000000000000
00000 (J¢s(ke)), 04 (ky)) 0000000000000 000000

4 OJO00O00OO0O0OO0ODODODOOoOoOoOoOoOoo

41 0O0ODODODO

FHQD(km ky)]-—‘il = 7H2D(kaca ky)a I'=1,®o00,
—iky
St Usp(kx)Hap (ky, ky)Uap (k)™ = Hop(kyy ky), Usp(ky) = 70 @ ((1) € 0 ) ; (61)
TUsp (ky) = —Usp (k).

gobboooooobobodooooooboboooooobboooooooboooooooboOoooooobooooaon
oobooooooooooooo

Hop (kg ky) = (m+cosky) 7y @ 0, +sink, 7, ® 0o (62)

00000000 0000000000000000000000AH(k,,k,), 7 00000000O0DODOO
gooo

V(ky) = alky)my ® 0 + b(ky)Ty ® 0y (63)
000000000000 O00
E?(ky, ky) = (m + cosky)? + sin® k, + a®(k;) + b (k) (64)
000000 Usp(kx)Hep(ky, ky)Usp(ke) ™ = Hap(ke, ky) OO0

(a(ky) + ib(ky))e e = —a(k,) + ib(k,) (65)
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02 00O00DbODOOOdOyDOOO 200000000y =0,20000000000000000DO
m=0,c(ks) =2sin (2272) 0000
oOooa
c(ky) = —i(a(ky) + ib(k,))e” "=/ (66)
ooooooooo
clkz) = c(kz), c(ky +2m) = —c(ky) (67)

goboobobooboobboobooboo
E%(ky, ky) = (m + cosk,)? +sin? k, + ¢2(kz) (68)

000000 N=100000000 ¢(k,) 000000ODO0O0OD0OOOOOOO ¢(k,) 00000 2700
00000000000000000000000000000000000000 ¢(k) =const 2000
gogboooobooboooboobboooboon

k) 0000k, =a00000000000000000DOOOO

c(ky) = sin (kﬂ” - O‘) (69)

00000000000 ¢(k,) DOO0ODOODODODOODODOOOOOODOODDOOO ¢(ky,)=00000
0000000000 ¢(k,)=000000000000000000DO0O0OODOOODO

42 O0O0O0O0O0O0O
goo0ooobooootoooooo
sink,7, ® og (70)

oobooOooooOooobOooobOooOoooooOo0 pgoonoO

—iky
UZD(kz)HISD(kzv kyv kz)UZD(kz)_l = H(kza kya _kz)a UZD(kz) =Tz & (? ¢ 0 ) (71)
oooooooooo?
ooooooag
Hsp(kg, ky, k) = (m+cosky + cosk,)ry ® 0, +sink, 7, ® 0g +sink,7, ® oy. (72)

goboobobooboooobd
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03 0D0000000yOO0 100000000y =0,10000000000000000000
m = —1,c(ky, k.) = 2sin (22=2) 0000

e 2<m< 0000k, =00000000000D00.
e 0<m<2000k,=7r000000000000.
e JOODOODOO

oooo
00000000 k00000000000 DO,000000000

Vks, k2) = alks, k2)1y @ 04 + b(ks, k2)Ty ® 0y (73)
00000000D0000000O0000O0
E%(ky, ky) = (m + cosky)? +sin® k, + a®(ky, k) + 02 (ke k) (74)

gooooa UQD(kI)ng(kz,k‘y,k‘z)UQD(kz)_l = ng(k)z,k)y, —]i}z) oa

(a(ke, k) +ib(ke, kz))e™ ™ = —a(ky, —k) + ib(ke, —k-) (75)
oooa
c(kay k) = —i(alka, kz) + ib(ky, k2))e /2 (76)
ooooooooo
bk, k) = clke, —k2), c(ks + 27, k2) = —c(ka, k=) (77)

oo ooooooooooon
E?(ky, ky) = (m + cosky)? +sin® ky + |c(kz, k)| (78)

000000 N=100000000 ¢(k,) 000D000O0DOODOD0OODOOOOOOO k., =0,700000

ek, k., =0,m) 0000000 k, 027 00000000000000D0O0O0DOOOOOOOOOOOOO

000000 c(ky, k. =0,m)=const 200000000000000O0O0CO0O0OOOOOODOOO
gobooooooo,oooooo
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04 0DO0O000O0O0OO0OyOOO 100000000y =0,10000000000000000000

m=1,c(ks, k) =2sin (22-2) 0000

00000000000 (000000000000 0O00O00OO0)0D0DO0DOO0ODOO0ODOO

oo H(ky)oy = —H (ky),
0.H(ky)o, = H(k, + 2m).

0000000000000000,H (ky)ow = —H(k,) 0O A(k,),B(k,) 0000000000

D0o0o0ooosS'ooooo 6(k,) 0
e?khe) .= det (A(k,) +iB(ky)) /| det (A(k,) 4+ iB(k,)) |
googgo
pi0(2m) _ ,—i6(0)

000000 Dé(k,)0 0000000 DOOODOOOOODODO Z, 00000000

52 0000

godo0oodooboooooooooooooboooooo
ToH (kg ky)my = —H (ks, ky),
St TpOpH (ky, ky) o0 = H(ky, ky),
0. H(ky, ky)o, = H(ky + 2w, ky).

7. H(ky, ky)m, = —H (kg ky) OO

0 V(ky, k ))
H(ky, k) = @ My
(Ka, ky) (V(kw,ky)T 0
00000000 1,0.H (kg ky)mp0, = H(kg, ky) OO

02V ke, ky)ow = V(ks, k)

O000H(ks,ky) 0D lat000000000000DO000 V(ks,ky) DDOOOODODODOO. OO

H(ky, ky) == 0,V (ky, ky)
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H?(kyyky) =1, H(ky,ky)H (ks ky) =1 (89)

gboooooo ﬁ(kzw,k‘y)lj flat 0000000000000 0D0ODOO0OOCO0O000O0OOOO S;0000
gboboooooood

St: 0. H(ky,ky)o, = —H (ks + 27, k) (90)

00000o0ooo u(l)ooooo

¢ ke) — oxp <_ f{ dkytrA(ks, ky)> (91)

0000000000 A(ks,ky) O H(ke,ky) 000000 Berry 000000000 0.H(ks, ky)o. =
—H(ky+2m,k,) 00 k,=00000000 k,=2r00000000000000000000 U(1)0O
0000000000000000000000

e (2m) — =iv(0) (92)

0000oo00ooOoOoD Z,0000oooooo

53 0OO0ODO
gogboooobooboobboobooobo

oxH (ky, ky, k2)on = H(ky, ky, —k.),

93
0. H(0,ky, k.)o, = H(2m, ky, k). (93)

0000k, €[0,27]0000000DDO0O0 glideD0ODODOO0ODOOOODOOOOD 0, @UDOO0O0DO
gogbooobobooboooboo

Z&Zs (94)

0000000ZO0OO k, 00000 weak index 000 Chern 00000000ZO0DO00O00O000O0O
stable equivalence 0 Z=00000000000000000 Z=0000000(0000 Z=0000
000 Z,00000000000000)

k,=T; (i=0,7)00 0,=4100000000000

H (ky, by, Ti) = Hy (K, by, T3) @ H_ (kg by, Ty) (95)
0000000000 0,H(0,ky, k.)o. = H2m, ky, k,) 00
Hy(2m,ky, Ti) = H_(0,ky, 1), H_(2m,ky, i) = Hy (0, k,,T;) (96)
0000

00000000 StokesOOOODOODO

™

I Hol(8S) + — / ttF =0 (mod 1). (97)
2’/T 2 S
D00 Hol(¢)) 000D (000D U(1)0ODD0000D(S000000000000000 Hol(8S) =
e~ $s™A0000)
k,=T;00000 Hy (ke ky,[;) 0000000 U(1)000000000000

Hol. (¢) (98)
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C
d
kz=mr
B
Cc
kz=0 kz
ky
kx=0 kx=21r
kx
os
00000000 a,be,d0000000O0O00OODOOOOODOO U()OODOOOODOO
Holy (a) = Hol_(¢),
Hol, (b) = Hol_(d),
000000000000000 A, B,CO00O0 StokesOOOOOOOQOO
LlnHol(a—&—b)—l—i/trFEO (mod 1),
27 21 Ja
LlnHoli(—a—l—c)—&—i/trFiEO (mod 1),
27 2 Jp
LlnHoli(b—d)—i—L/trFiEO (mod 1),
2m 2 Jo
goobooo
InHol(a + b) = InHol; (a + b) + InHol_(a + b),
InHol(¢ + d) = InHol4 (¢ 4+ d) + InHol_ (¢ + d)
ggoo
goooboobobo
N'—ilnHol (a—l—b)—&-li/trF—&—li trF Ll trF_ (mod 1)
T or + 221 J, 201 Jp T 221 Jo o '
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oobooooooon

2N = — InHol b) + — InHol_ d)+— [ ttF+— [ trF_ — — [ trF_
o ol+(a+ )+27rn ol-(c+ )+27T_/A : +27r/B : 2r Jo :

— InHol b) + — InHol_ b))+ — [ trF
S5-I ol (a+ )+27r nHol_(a + )+27T/A r (103)

1 1

— InHol b)+ — | trF
g+ 5 f
=0 (mod 1).

OD000000 StokesDOODOOOODOOO NO Z,O0ODOOOODO

6 KOOOO
6.1 0000000

00000000000000D000000 GysinOODOO (00000D0)0000000000*0

Kg*(TJrT(p))—l(X x S1) " Kgrr(p)—l(X) xa(p) Kg_l(X)
l T (104)
K8+O(X) XG_(”)> Kg+T(P)+0(X) ‘“'_*> Kg*(‘r'i'T(P))-"O(X % Sl)

000 7€ HY(X;Ze) x HY(X;Z)DOOOO7r: X xS - X00ODOOO0OOO0OOOOOO7(p) €
HL(pt;Zo) x H3(pt;Z) 0 GOOO S'0000000000000O00OO00O000O0(@OO00Z 0 S'Oo
00000000z— 2000000 “007"000000-2,—200000000000000000000
0000000007 (p) 000000000 D0O00O00N)

GO S'00000000pteS'000000(XOO00DO0O00000000000)0s:X — X xS!
O s(z)=(r,pt) 0000D00s0 GOOOOOOO ros=100 s*or*=10000000000000
000000oooooon

0 —— KGO (x) o KUY 9l —— KZNX) —— 0 (105)
ggbooooodgn
Kg*(TJrT(p)Hn(X x §1) Kgrr(p)Jrn(X) & KL= 1(X) (106)
00000000 7(p) 000000000000000
KETH (X x Y = KGH(x) @ KgT0(X) (107)

0000ooO0o00ooO0o00oo0o00oo0o0oboO0o00 KOoooooooooo

6.1.1 OO0 pg

00 G=Z, 000000000000 Z, 0 S'000000000o0oooooag () DooDOooooo
(ii)“DD”DDDDDDDDDDDDDDH%Q(W;ZQ)ng,H§2(pt;Z)=0DDDDDDDDDDD 7(p) O
0000000000000 ¢t00002t=000002%Z,0 $'00000000000000%“00700
ggtogobooooooog TDtEH%2(pt;Z2)DDDDDDDD?’LZO,1DDDDDDDDDDDDD
ooooooooooooo

e n=0(class A)ODOO Z, OOOO “00070 “0000"00000000
e n=1(class AII) 000 Z, OO0O0O0DO0O0O0O0OTIO000OOOOO0DOOOOODOOO

00000000000 800000000000
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oo0000ooo0O Z, 0000 pg0O0000O000O KOOODOOOOOOOOOOOOOOOOOO
pgO00O00O000OO0OCOOODO

U (k) H ks oy U ()™ = H =), U = (307 (108)

o000 Koo
oo
Ky (Ty,) (109)
0000 2Zs: (ks, ky, k2) = (koyky,—k.,) 00000000000 (O k, 0000 SIO000000000
00 H;,(S:)=Z, 0000000k, 000 S}000000000000000
< T ~Y _t_l

K () = K5, (T%) @ Kz, '~ (T%) (110)
0000000000 Z 0 7T?000000000000000 “weakindex’000000000000
0o

k) H (ke k) (k)™ = (), UG = (957 (111)

O000oO0oDoKOO ng(T2)QZDDDDDDDDDDDDDDDD Chern0000000O0O0OOO
000 (-1)0000000000000000000000 cass AIIDOO0OODOOOOO tO0DODOODO
O00o0o0ob0 Z.OOooooopooOoDoOoOOOOOOOOCOODOOO

TH (ky, k)T = —H(ky, k),
Ul(ky)H (kg ky)U (ky) ™ = H(ky, ky), U?(ky) = e %=, (112)
FU(kﬂc) = *U(kx)Fv

oooo
00000000 k0000 S;DDDDIZIDDEIDDDDDDDDDDDDDDDDDDDDDDDDD
oooooooood

K THT?) = KNSy @ KG ' (Ss) (113)

0000 “weak index’00000000¢t000000 Z, O “O0000700000000000000O0O
—1 0 e ke
U(kx)H(kx)U(kx) = _H(kx)v U(kx) = : (114)

o00o0oooO0o00ooo0o0ooo0UooD Z,0000000000O0O0O0O0OOO

6.1.2 OO0 pmg
0000 pmgO0OO0O0O0O00 ZyxZ, OOOOOOO

U(kx)H(kxa kya kz)U(kw)71 = H(kxy kyy 71@2)’ U(kx) = eiikzy
MH (ky, ky, k)M ™ = H(—ky, ky, k), (115)
MU (k) = U(ky) M.

00000 k,k, 000O0OOODODOOODOOOOOODOO0O0O0O0
G=7ZyxZ, 000000000 7(p) = Hy, 5, (pt; Zo) x H3 5 (pt;Z) 0000

H} 7. (pt; Zo) = Hom(Zo X Lo, Zo) = Lo & Lo, (116
H3, 2, (0t L) = Ly (117

D0O0DO00H, «7,(pt22) =Zy ®Z, DO0DOO000D ty,t, 26, =26, =00000¢ 0 Ulk,
0000040 MO00D000000000000000H],, (p42)=Z, 000000 t12(2t2 =0
00004, 0000000¢0000000
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e n=0(class A) 0000 ()0 U(k,) 000 (MOOO)0 “00070 “0000700000000
e n=1(class AII) 000Dt (t,) 0 U(k,) 000 (MOOD)O00D0000D00 00000000
ooooooo

oooo0ooo0O th, 0000 Z, 000000000000 OO0OODOOO

e tjo0 MU (k) =U(k,)MODOD0O MU(k,) =-U(k,) M 0000000000000000000
00 (-(1)0000D0

000 Hy .z (ptZ:) x H} . (p;Z) 00000000000000 7 = (w,hi) € Hy(X;Zy) X
H(X;z)oooo

1+ 7o = (w1 + wa, hy + hy + B(w1 Uwz)) (118)

0000000 U: HY(X;Ze) x HY(X;Ze) — HA(X;Z2) 00000008 : HA(X;Zo) — HA(X;Z) 00O

000000Z—Z—Z,00000000000000H;z,, g, (pt;Z) x HY g (pt; L) = (Lo ® La) X Ly
0000 000000000

ﬁ(tl Utg) = ﬂ(tz U tl) = tlg (119)

oooo
oooooooOoooooo0ooooD k, 00000000000

K 0, (TP 2 K5, (T?) & K5 0 H(T?) (120)

0000000 “weak index”0 0 00 “strong index’0 000000000000 KO Ky iy '(T?) 00
000000000000

TH (ky, k)T 7! = —H(ky, ky),
Ul(ky)H (ks ky) U (ky) ™t = H(ky, ky), Ulky) =e *= U(ky)T = —TU (k),

(121)
MH (ky, k) )M ™' = H(~ky, k), MT =TM,
MU (ky) = U(ky) M.
ooo ky[IDIZI[IDIZIDD[ID
Kj i, (T?) = Kp 0 (SY) @ Ky, (S1) (122)

000000 KO K34 (SH)000000000000000000000

U(kz)H(km)U(kr)71 - 7H(kz)7 U(kz) - 67”“7
MHk)M ™ = H(kz), (123)
MU(ky) = U(ky) M.

ooooooo zooooooOoOoOoOoOOOOOOOODOODDOO
0 etk
Ulka)=10® (1 "¢ | > (124)
o
M=r1,®09 (125)
0000000000000 00U(k,) 000000000000 0OO000OO0OO0OOOOOOOOOO

o HAA(k'a;) —iHAB(kI)e_ikm/2
H(kx) a <7;HAB(/<J£)6“€Z/2 —HAA(kx) ’

H)y 4 (k) = Haa(ks), Hp(ks) = Hag(ks),
HAA(]CI + 271’) = HAA(kw), Hap(ky +2m) = —HAB(/CQC).

(126)
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000 'oooo0ooo0o0oooDooO0 MOOOOOOo
T Haa(ky)T. = Haa(—ke), T-Hap(ks)T. = Hap(—ks) (127)
gooooooooo
V(ky) == Haa(ks) +iHap(ky), V(ky +2m) =VT(k,) (128)
oo0oooo MOoOOOoOoO
7.V (k). = V(—ks) (129)

oooo0oo00oboooD Vk,)OODOO k,€0,7]0D0O000O0O0ODODO k, =0,7000 V(k,)OODO
gooogn

7.V (0)r, = V(0), (130)
. V(m)r, = Vi(r). (131)

000000000 V(0)0OODDO000000000000 »V(r)00000000 (V(x)2=100
0000 7,V(r)D lat 000D0)00000000000000000 =V(r)0Z0000000000

K 0, (S =2 (132)

ooooo

62 D00OD0O0O0DO0ODOOODODOODOO0O MapOD QOGO

0000 GUOOOO S'oooooOooOoOoOooOooo
K T (X gty 2 KON (X @ K (X) (133)

D00O0D0KLY(X)0000 X000000000 Hx)oo K5 e =y, ahyoooo X x S
000000000 H(z,A)DOODODODOOODOOODOO00KL™(X)00000000 $'00 G000
0000000000000000000

e GO S'OODDODODODODO
e GU0OL0 Z,0D000DOZ,O S'OODOO “0D0’0000000000

000000000000000 MapO0OOOOOOO0OO0O0000000000000000 MapOOO
0ooo

00000000 MapDOODODOOODDO0O0ODD00OO000000000000 H(z)000000
KL"™(X)00000000000000000000H(¢)0 K5"(X)000000000000000
Doooooooo K5 Tl « s 0000 X x S'0000000000 Hy(x) O Hy(x) OO
0000000000 “00000000700000000000

00000000000 n=—I(cass Al 000000000000 K5 Y(X)0000000000
ooooooooo

TH(z)I™! = ~H(z) (134)

DOoOo000O0O00o0o0oooTroooo K5 C7e)(x x$YY0ooo (000000000000000
00)X xS'0D000oooooo

H(z,0) = f1(0)Hy(z) + f2(0)Ho(z) + g(O)T, (€ SY) (135)

000000000000 f1(0), f2(0),9(0) 0 f1(6) 20, f2(0) 20, f1(9)0 6 =000000000 f2(6)
0#=700000000g()0#==+7/2000000009(0~7/2)0 g(@~—7/2)00000000
00(0000)000Z, cGO S'0 “007°0000000000000000000000000
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2(0)

f1(=0) = f1(0),
f2(=0) = f2(0), (136)
g(—0) = —g(0)
ooOoooooao
H(x,—6) = f1(0)Hy(x) + f2(0)Ho(z) — g(6)T (137)

gogboobogn
00000000000 MapODOOODOODOO 7(p)000D0O0O0OODOGDO sSlooooooooooo
MapOOOOOOOOOoOOOOOODO

; o N o ) H(z,0)  (U(g,x) = U(g,x), for U(g,)I' = —T'U(g,))

H 9 1: ) - ) ) ) ) ) 1
Uie =) (= 0)U(g) {—H@c,e) (U(g.2) = TU(g. ), for U(g.0)l = TU(g.a)) 5
0000000000000 000000000000000000 7(p)=00000G0000 Z,0 S
0D “007000000000% 000000000 Ug,()0000

- 5 - _ H(x,—0)  (Uzy(z) = Uz, (x), for Uz, (z)T = TUz,(z))

H 0 L ) &2 2 ) 2 2
Gt = { 20, ) e o e )

0000000 +7(p) 0000Z C GOOOOO H) (pt;Z) =Z, 0000000 ¢00000000

ooo

00 n=0(class A)000000000000 K4(X)0O0OOO000000000000000000

Dooooo K5 U)X « $1) 0000 (000000000000000)X xS' 00000000

od

(139)

H(z,t) = [1(0)H1(z) ® 02 + f2(0)Ho(z) ® 02 + g(0)os, (0 € S) (140)

000000000000 f£1(8), f2(0),9() 0000000000000 o,(u=0,2,9,2) 000000
000000000 0, 000000000Map000000000000000000

TH(z,0)T' = H(z,0), T =0, (141)

0000 (00000 n=-100000000000)0000OO0ODO
00000000000 MapODOOOOODOD 7(p)000000000GO S'000000000O0O0
MapOOOOOOOOODOODOOOODO

U(g,2)H(x,0)U(g,2)"" = H(z,0),

B _ [ TU(g,x) (U(g,2)
U(g, )T —{ —F(jg(g,x) (ﬁ(i x)

(9,7) ® 09, for U(g,z)H(x)U(g, a:g_ll = H(x()) (142)

U
U(g,x) ® oy, for U(g,z)H(x)U(g,2) "+ = —H
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00000000000000000000D00000000000 r(p)=00000G0000 Z,0 S°
0 “007’000000000Z, 000000000 Ug,(z)0000

Uz, (2)H (,0)Uz, (x) " = H(z,~0),

Uz, (o)L = { LUz, () (Uz,(x) = Uz, (2) ® 0, for Uz, (2)H(2)Uz, ()" = H(x)) (143)
: FUZz (.’E) (Uzz (LE) = UZ2 (LL') X oy, for UZz (QT)H(JJ)UZZ (m)_l = —H(Qﬁ))

0000000 +7(p) 0000Z, Cc GODOOOD Hy (pt;Z:) =2, 0000000 ¢t00000000
0oo

oo

1] 0000,20000000000000000 KOO: pm, pg ,cm.
2 0000,00000KOOOOOO (ver.2)
[3] 0000, 0000000000 KOODODOOOO
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